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10010-D/760

While interpretation, a Statute should not be

given a meaning that make other

provisions:

(A) Dormant

(B) In-effective

(©) Redundant

D) None of the above

What is legislation?

(A) Law made by Parliament

(B) Law made by Law Commission

(@) Law made by Custom

D) Law made by Judges

What is a judgment?

(A) Decision of the court

(B) Law made by Parliament

€ Both (A) and (B)

D) None of the above

Case law technique means :

(A) Study of case law on the subject

(B) Comparative study of case law on
the subject

(9] Both (A) and (B)

D) None of the above

Stare decisis means :

(A) Stand by for a decision

(B) Stand by what has previously been
decided

(@) Stand by future decisions

D) Stand by the judgment

Which of the following is a method of

collecting primary data?

(A) Observation method

(B) Interview method
© Questionnaire and schedule
method

D) All of the above

(3)
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A___ isasubsetofa___
(A) Sample, population

(B) Population, sample

©) Statistic, parameter

D) None of the above

A comprehensive full report of the research
process is called :

(A) Thesis

(B) Summary Report

©) Abstract

D) Article

The first page of the research report is :
(A) Appendix

(B) Bibliography

©) Index

D) Title page

Which of the following is not one of the seven
major parts of the research report ?

(A) Result
(B) Abstract
©) Method

D) Footnotes
Mischief rule is :

(A) In interpretating statutes, judges
should interpret the words literally

(B) There must be no mischief in courts

©) In interpretating statutes, judges
should look at the 'Mischief' which
the Act was passed to prevent

(D) In interpretating statutes, judges
should interpret the words as they
see fit

(4)

1.

(A) A, STEE

(B)  STEEAT, T

(C)  wiegh, Wex

D) WA § § B w6l

HFHAN TR B TF 9w Jo R

N el ST

A it

B) G R

C) ¥R

D) wE

g RE &1 98w I @

A)  gRiEm

B) T g

(C)  STgRAfTEH

O  dF g

frfofaa & @ @9 g Rae & 9@

T A A ¥ O T o7

A) R

(B) €

€ fafy

0  geieE

Rt & fraw @ @ sifmm 27

(NI 1 e e e e s £
TS T AT i Meah AT
HE AR

(B) ORI H PR IO el ol
By

C) =l @ @ Hd 99y,
TR B I S B G
AT FoTe Wb & o AR
qRd fpar = e

D) faf= @ @ wd 99y,
121151 7 B e 7 | | AR
Y § ) AfeT o9 F 3|
el




12.

13.

14.

19.

16.
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Which legal maxim means "to stand by
things decided"?

(A) Ratio Decidendi
(B) Obiter Dicta

(C) Stare Decisis

D) In Bonem Partem

Which of the following is not a general rule
of interpretation?

(A) A statute must be read as a whole
(B) Same word to have same meaning

(@) Technical words to have ordinary
meaning

D) A construction so as to avoid
absurdity is permissible

Full form of D.L.I. is :

(A) Delhi Library of India

(B) Daily Library of India

(9] Digital Library of India

D) Digital India Library

What is a place where library materials are

stored and are readily available on request
called?

(A) Data bank

(B) Repository

(C) Clearing house
D) Information centre

The use of the library by the people makes

them ___citizen of the society.
(A) Well informed

(B) Healthy

(9] Smart

D) Cultural

(3)
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The advantages of random sampling is that:
(A) It is free from personal biases

(B) It produces reasonably accurate
results

(C) It is an economical method of data
collection

(D) All of the above
Bibliography means :

(A) Foot note

(B) Quotations

(@) List of books referred
D) Biography

Which of the following is not true about e-
journals?

(A) They are distributed through digital
method

(B) They also have editors or editorial
boards

(C) They are publications of serial nature
D) They are always free of cost

Which article of the Constitution lays down
that the law declared by Supreme Court shall
be binding on all courts within the territory
of India?

(A)  Article 141
(B)  Article 145
(C)  Article 140

(D) Article 142

(6)
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21. The process of reviewing datais called ___. 21,

(A) Data Analysis

(B) Data Breaching
(C) Data Interpretation
D) None of the above

22. The obiter dictum is the portion of the 22,

judgment.
(A) Non-binding
(B) Binding

©) Both (A) and (B)
D) None of the above

23. What is the mistake that researchers who  23.

write questionnaire should avoid?

(A) Writing ~ questions  which
respondents do not understand

(B) Writing questions with filters and
routes

©) Writing questions that the
respondents are able to answer

D) Writing questions that the
respondents are willing to answer

24. An advantage of open-ended questions is  24.

that :

(A) Respondents can  express
themselves freely

(B) Potential is high for interviewer bias

(@) They can also be used in topic
guides

D) Coding is a challenge

25. Which of the following is not the method of ~ 25.

research?

(A) Survey

(B) Historical

€ Observation
D) Philosophical

10010-D/760 (7)
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27.

28.

29.

The major ingredients of a decision are : 26.

(A) Findings of material facts
(B) Statements of the principles of law
©) Judgment

(D) All of the above

A statute has been defined as the : 27.

(A) Will of the legislature
(B) Will of the king
©) Will of the society

D) Will of the magistrate

The last page of the research report is : 28.

(A) Appendix
(B) Bibliography
©) Index

(D) Title Page

The list of special terms and phrases used 29,

is given in the form of a :
(A) Foot note

(B) Quotations

€ Glossary

D) Bibliography
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30.

31.

32.

33.

34.

Surveyisa____ Study.

(A) Descriptive

(B) Fact finding

(C) Analytical

D) Systematic

The main types of observation methods are:

(A) Naturalistic observation

(B) Controlled observation

©) Participant and non-participant
observation

D) All of the above

The main problem in questionnaire is :

(A) Accessible to diverse respondent

(B) Greater anonymity

€ Shows an inability of respondent to
provide information

D) None of the above

Which one is called non-probability

sampling?

(A) Quota sampling

(B) Cluster sampling

©) Systematic sampling

D) Stratified random sampling

What is a sampling unit?

(A) The population

(B) The basic unit containing the
elements of the population to be
sampled

©) All the individual elements of the
final sample, drawn together

D) The method used to collect the
sample

10010-D/760 (9)
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35. Who defined "Research" as "Systematized  35.

effort to gain new knowledge"?

36. Which rule of interpretation means express 36.

Tom & Zerry
Redman and Mory
F.W.Taylor

Ross Taylor

mention of one thing is the exclusion of

other?
(A) Ejusdem Generis
(B) Rule of Harmonious Construction
©) Expression Unis est exclusion
alterius
D) Primary rule
37. A null hypothesis s : 3r.
(A) Hypothesis of no difference
(B) Hypothesis that assigns value of
zero to the variable
©) Hypothesis of zero significance
D) None of the above
38. The preparation of a synopsis is : 38.
(A) An art
(B) A science
©) Both (A) and (B)
D) None of the above
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The search for answer to research question
is called collection of :

(A) Data

(B) Information

(@) Forms

D) Schedules

Primary data can be collected through :
(A) Experiment

(B) Survey

©) Both (A) and (B)

D) None of the above

In the process of conducting a research,
researcher should be :

(A) Biased

(B) Non-Biased

©) Both (A) and (B)

D) None of the above

A questionnaire that offers no scope for any
respondent's own view is called :

A
B
C

D) Unstructured

If there is any appearance of inconsistency
between the schedule and specific
provision in an enactment, the __ shall
prevail.

(A) Schedule

(B) Provisions

) Closed-ended
) Schedule
)

(
(
( Open-ended
(

€ Both will be applicable as per
situation

D) None of the above
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Which of the following is not legal material?

(A) Enactment

(B) Notification

€ Judgement

D) Legal Article in research paper

The library which serves as a permanent

depository for all publications issued in the

country is a

(A) Public library

(B) University library

€ National library

D) School library

What is the meaning of legal materials in

legal research?

(A) Enactment

(B) Notes on the subject

©) Story writing

D) Newspaper

Essential element of sample is :

(A) Representative

(B) Equality and uniformity

©) Independency

(D) All of the above

How many types of law are there?

(A) Civil law

(B) Criminal law

€ Both (A) and (B)

D) None of the above

What is delegated legislation?

(A) An act of the Parliament

(B) Law made by a person or body to
whom the Parliament has delegated
power

(@) Law made by a delegation

D) A decision of the courts
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What is the 'Ratio Decidendi' of a case?

(A) The reason for the decision

(B) Other things said

©) The reasons of majority only

D) The decision in the factual case

When there is no need for presumptions?

(A) The intention of the legislation is clear

(B) The intention of the legislation is
not clear

(@) The legislation can be used in any
condition

(D) All of the above

Which one of the following is regarded as a

private law topic?

(A) Criminal law

(B) Contract law

€ The law relating to human right

D)

o

Administrative law
contains an object of the Act?

=

Long title

)
B)  Short fitle
)

C Preamble

(
(
(
D) None of the above

Research process begins with :

(A) Research design

(B) ldentification of research problem
(@) Collection of data

D) Report writing

A research problem is feasible only when :
(A) It is researchable

(B) It consists of independent and
dependent variables

o

When it has utility and relevance
All of the above

C
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A schedule is generally filled up by :
(A) Researcher

(B) Informants

) Government

D) Educational institutions
Which of the following is not true?

(A) Schedule method is costly as
compared to questionnaire method

(B) A questionnaire is generally filled
up by informants

(@) Identity of respondent is known in
case of schedule

D) ldentity of respondent is known in
case of questionnaire

In the process of conducting research
'Formulation of Hypothesis' is followed by :
(A) Statement of Objectives

(B) Analysis of Data

© Selection of Research Tools

D) Collection of Data

A common test in research demands much
priority on :

(A) Reliability

(B) Useability

©) Objectivity

(D) All of the above

Research aims for finding "Answers" to

"Questions” it implies :

(A) A framework of philosophies

(B) Using valid and reliable methods
and techniques

(@) An unbiased design

(D) All of the above
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______ signifies the structure of the

research.

(A) Research design

(B) Review of literature

©) Formulation of hypothesis

D) Data collection

Which of the following is a primary source

of law?

(A) Bye-laws

(B) Legal commentaries

€ Dictionary

(D) Encyclopedia

A researcher is doing his legal research

sitting in the library of his/her law university.

What kind of research is he/she doing?

(A) Doctrinal legal research

(B) Non-doctrinal legal research

(C) Comparative legal research

(D) All of the above

Under what kind of "System" does England

and Wales operate ?

(A) Civil law system

(B) Common law system

(@) Equitable system

D) None of the above

Which of the following is the most accurate

description of civil law?

(A) Civil law is an aspect of public law

(B) Civil law relates to controlling
conduct or wrong doing of which it
disapproves

©) Civil Law relates to the enforcement
of particular forms of behaviour

D) Civil law is a form of private law &
involves relationships between
individuals
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The word "Data" is originated from the Latin
word :

(A) Detum (B)
©) Datam D)
The data which are collected from the place
of origin is known as :

(A) Primary data

(B) Secondary data

(C) Primary and Secondary

D) None of the above

Source of data collected and compiled by
others is called :

(A) Primary data

(B) Secondary data

(C) Primary and Secondary

D) None of the above

Which of the following is an example of

Datum
Detem

primary data?
(A) Book
(B) Journal

(@) Newspaper

D) Census Report

Which of the following is an example of
secondary data?

(A) Journal
(B) Newspaper
€ Book

(D) All of the above
Which of the following is true about
secondary data?

(A) Secondary data must be suitable
(B) Secondary data must be reliable
(@) Secondary data must be adequate

(D) All of the above
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Where in an enactment, there are two
provisions which cannot be reconciled with
each other they should be so interpreted
that, if possible, effect may be given to both.
This is what knownasthe ___

(A) Rule of Harmonious Construction
(B) Rule of Reasonable Construction
©) Rule of Ejusdem Generis

D) None of the above

According to primary rule,the _______ofa

statute are to be understood in the natural,
ordinary or popular and grammatical
meaning unless such a construction leads
to an absurdity or contents or object of the
statute suggests a different meaning.

(A) Words
(B) Phrases
©) Sentences

(D) All of the above
The term 'Private Law' refers to :

(A) The body of laws that derive from
the deciding of cases

(B) The body of laws that seeks to
regulate the relationship between
individuals

(C) The legal principle that states that a
person has the right to privacy

D) The body of laws that seeks to
regulate the relationship between
the state and its citizens
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Sample is regarded as a subsetof _____ .
(A) Data

(B) Set

(C) Distribution

D) Population

Increasing the sample size has the following
effect upon the sampling error :

(A) It increases the sampling error
(B) It reduces the sampling error
€ It has no effect on the sampling error

D) All of the above

Which of the following is a type of legal
research?

(A) Doctrinal legal research

(B) Non-doctrinal legal research

©) Comparative legal research

D) All of the above

Lexis Nexis and Westlaw are :

(A) Online legal database

(B) Method of citation

(C) Style of writing in legal research
(D) All of the above

When rule of Ejusdem Generis is applicable?

(A) Specific word follows general words

(B) General word follows specific
words

©) Either (A) or (B)

D) Both (A) and (B)
Generally ____
interpretation.

(A) Labour laws

(B) Welfare laws
€ Criminal laws
D) None of the above

are given strict
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The phrase 'Civil Law' can refer to those
legal systems whose laws are based on
Roman law. It can also refer to :

(A) Laws created by judges

(B) The body of laws that does not relate
to criminal offences

(C) The supplementary system of law
that is based on fairness and
equality, and seeks to mitigate the
harshness of the common law.

D) The body of statutes that establish
what conduct is criminal and the
punishment for engaging in such
conduct

The introductory section a research report

should aim to :

(A) Identify the specific focus of the
study

(B) Provide a rationale for the report

©) Grab the reader's attention

D) All of the above

Which of the following statements best

describes the function of the legal system?

(A) Maintenance of public order

(B) Protection of individual rights and
liberties

(@) Conferral of obligations

(D) All of the above

What is the common law?

(A) Law passed by the Parliament

(B) Delegated Legislation

(@) Power
prerogative

D) Case law made by judges

exercised by royal

81.

82.

83.

84.

(19)

“rergisT et S I B Semied

I Gl HT B 8, O BT Ao

P T ST 21 THH Ieorg T Al

& T ¥ ¢

(A) T SN SR Tt

B) faftRt @ Fem S oTuRiERe
MU q T e R

(C) T & Wb YTl S Foger
AR THMAT W STeRa B, R
A o @ weRar @ FA
FT BN T B B

D)  fafe=t @ Mo s wnfta R
% BF-91 STERer SRy B
AR T omerYr § it BN @
frg e

T MY ROE & TReAeE @IS H

BT AT

A oTERE % R Bl @ wEE

HE
B) RUE & W & T oW &N
(C) UE® H M BN B
D)  SUE q«

Frffae & & -1 A B SOl
% B P G BT I BT 87
(A) S Fae H E-EE
B) AR HHRT AR T B

G
(C)  TIREl M AR
D) I I

e fafy @ 37
(A)  GHT W GRT BT

B) YIS e
C) e IWReR W WM W
I are e

(D) s ST SR T T B

[P.T.0.]



85.

86.

87.

88.

89.

90.

10010-D/760

Which of the following is not a type of non-
probability sampling?

(A) Quota sampling

(B) Convenience sampling

©) Snowball sampling

D) Stratified random sampling

The difference between a statistic and the
parameter is called :

(A) Non-random

(B) Probability

(@) Sampling error

D) Random

After the data has been processed and
analysed, the research process requires :

(A) Interpretation of data
(B) Presentation of data
©) Reporting of data
D) Testing of data

A process in which it involves data
manipulating or summarizing to draw
relevant conclusion is called :

(A) Data Breaching

(B) Data Analysis

(@) Data Reading

D) None of the above

Probability is likelihood of __ .

(A) A variable

(B) An event occurring

€ A variable repeating

D) None of the above

What are the two types of research data?
(A) Organised and unorganised data
(B) Qualitative and Quantitative data
€ Processed and unprocessed data
D) None of the above
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A statement made about a population for ~ 91.

testing purpose is called :
(A) Statistic

(B) Hypothesis
€

D) Test-Statistic

Level of significance

The advantage(s) of precedent would be : 92,

A
B
C
D) All of the above

) Fairness
) Predictability
)

(
(
( Bound by court hierarchy
(

Which of the following is the purpose of the 93,

legal research?
(A) Ascertaining the laws
(B) Highlighting ambiguities and gaps

©) Determining coherence, stability
and consistency

(D) All of the above

What is the last phase in legal research? 9.

A
B
C

(A) Data collection
(B) Data analysis
€ Report writing
(

D) None of the above

Which one of the following is not a 9.

substantive Law?

(A) Hindu Law

(B) Indian Penal code

©) Contract Act

D) Code of Civil Procedure
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is used to remove special cases
from the general enactment and provide for
them specially.
(A) Exception clause
(B) Saving clause
©) Proviso
D) Non-obstante clause
Which of the following is true about
sampling?
(A) Sample is a part of population
(B) Sampling saves time, money and
energy
©) Sampling helps in estimating
sampling error
D) All of the above
The point where the Null Hypothesis gets
rejected is called as ______
(A) Significant Value
(B) Rejection Value
©) Acceptance Value
D) Critical Value
According to the ____ rule of
interpretation, meaning of a word should be
known from its associating words?

A
B

) Mischief rule
) Golden rule
) Noscitur a sociis

D) Primary rule
nterpretation of statute should not be given
a meaning which would make other

_— o~ o~ o~

______ provisions.
(A) Ineffective
(B) Redundant
©) Dormant

(

D) None of the above
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,

pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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